a

S i =

akd k]

12 nE IV
JZ )G H EL

Hydraulic Rotary Actuator

= Gn F ff

WEe R IERH B IR A A

WY Trato Hydraulic Technology Co., Ltd

. (4 0% N \\/_
e I\
R BE
' -

: ™ 1>

s ] J
™ io™w '
e ¢
g2 e YT IO

.
(%3 ] mre "L



SIN3ILNOD

L 1
e

— s\
] Z2SlEi

COMPANY INTRODUCTION

e NEIXRE

* £ipR

NP FRE
PRODUCT INTRODUCTION
o TEHI
o LB ISR
o BRARSIFmESE
o TRHRIIFRESE
o FEmltEE
o NFHmS




[pkodicltii]

A7

pa—— -

RS IR EFH AR ATIR—RE I TE M RERIE RS HEl AV A T
FERGHERIGA R,

RiBEIERERAR AT T 20005, RETHZMEET A5G
15000m BB ATV 5 |, B SEEESREIEIRE100RE . ARIEEISO9000/%
BARRINE , REHTIMERALE , HEKAUREEHRRAEIL,

REIFA "REF—BFPEL" (RS, A XAEFPREE—RNRSS | AFR
TEEFmPDANNARSY |, [ 2N ATF TR DI ARA LAV BaiRE.
IR HBZER. SR E S .

AERHAR |, BEIREFRRTT  FENREEERR | <ENERREA
BRI S AR TS 22,

BIERIRBSIENEFEERINK |, #FHEIRE !

Weihai Trato Hydraulic Technology Co., Ltd. is a company dedicated to the
development of high-performance spiral swing cylinder. Design. Production and
sales of integrated enterprises. Weihai Trato Hydraulic Technology Co., Ltd. was
established in 2000. The company owns 15,000 m2 modern industrial plant and
more than 100 sets of high-precision numerical control equipment. Through
ISO9000 quality system certification, the company has obtained dozens of patent
certification, and grow into a high-tech enterprises in Shandong province.
Adhering to the principle of “Quality first, customer first” , we provide first-class
service to our customers. Our main products are divided into six series, which are
widely used in construction machinery. Industrial machinery. Mining machinery.
Automation. Excavator equipment. Municipal vehicles. Maritime equipment and
other fields. The company technology-based, through scientific design, strict
quality management system, perfect after-sales service for partners to provide
excellent solutions. Trato science and Technology is willing to grow together with
all partners to create the future hand in hand!

Hydraulics .Components.
Systems

01



hRelb

£

Production Scenarios

HATHEEIEE. RENGETWERE
BRE R TINTHEMERER , 55!
HHTEINT, #1E. 188 Bk BESFL.

Our company has more than one hundred sets of
professional production equipment such as CNC
lathes and cyclone mills, and has set up processing
workshops and assembly workshops for tooth
processing , grinding,welding, assembly , painting
and other processes respectively.

02



QXEPRE REWS

[pbodicltii]

Company Honors

il - - e N
.y T - S 1= AW
aE -5

e R AL RN ML TR aRmE

it (. L R RHY n
Ls T

e L iz

®G6

— o

KQERE _ WNIEED

Honorary Title

BPQC

AR AR

QXEFRE  GRED

Certificate of Authentication

Lmi % *H £ %) ;T B RE A

e I T
o F E i !




04

WRHEERE HELRIEN48/Operating Principle

L&/ Mounting

gt =3 /Stranddle mount
Radial load
BrEthE

< -'I__ pr
V4
|

Stranddle moment

Axial load

ST MERERZE /Performance

HABEREREZ

Torque vs pressure

B
"
1
®
g
k]

RiRENRED IR EIRREBET (BB
FEEly) fRkes (Be8D) ¥&it, EHE
BB EN —fORIRRE B, HER
SHEEAE (ReBHLlFE) , RIEEIF
B XE—RATLZEEE, Rie3IBoAER
R BB E IR,

BB &3 /Cantilever mount

Radial load
e

Cantilever moment

Hhm R
Axial loa

SIEHABX AR

Torque vs moment

Torque vs. Moment



FEEMES Foatures And Benefits

1. BT ELHEIINHEEITAG , CARIEamEL , HEREE |
TEMEEED.

« AT R0 EPHEIER/) , JLF 0.

. WA RRFBR/EE | RE20ccHR,

. AILAIH AR RRYEAE | BRIFIATIRTLAMEI300KN,

. BILASEHI0-360FEhEEE , CTORFIRTLASEHO-720E et

. ALUREARYZEATFIAHERAS,

RRAZHMN | JLMREE P REERI R .

BEHE D RAR A A AEAIRCERAARI BRI (45%-80%) , SARSERIE

REAGZE LAEIR | ERANETIERERSREET.

’COI‘M.IO'\U'I.}&UJI\J

175BYERE Model Code / Ordering Information

CT2 — 009 —180 /90— Q@ D Y J W

1 2 3 4 5 6 7 8 @9
FERRIMIBCT RERIGES
BT RARIRS
FE2ALER, HERB CTRFSERAHS, HAR RIS
S RE R CT1990°, 180°, 270°, 360°CT29180%CT3180°, 360°
BAMIEPEHRE EFTHRIELIRER | TR EAIEE A EREM SR E
E5uimts offF—anE= L RFRNES |, ZRFEEH
FEoluEp D--EEELEE: M--BiiE W--ERELE, R--FE=%5 F--alix
=% G--HiERE
BT 1R Y--B: W--F: A--$58% ; D--EbIFHER
el ar s -8R0, P--EEEr , D--TMER G--Hit
NI : HftFREK W--FAFHRER: C--BFEH); E--SaHIRL

ERERZEFES  MEEHRBERERERDRAAR,

05



CT1ZFIE#5R~ Dimwnsional Data

IR B3R

BE=

S

10

16

27

HHi-H 1A 5ENM@2 IMPA

320

600

1000

1600

2700

{RIFHASBNME2 IMPA

630

1200

1900

3800

5700

9400

RAZREN

560

1000

2200

5600

9000

11200

RAMEKC

900

1350

1850

3600

4980

6700

B T ERKG

900

1350

1850

3600

4980

6700

FBICHR (180° )CC

63.9

121

192

365

552

914

EBiCHES (360° )CC

243

384

733

1105

1829

BOEE (180° )KG

6.4

10

14.2

26

57

06




5k el i]
s 2 3 6 10 16 27
EICE S (360° )KG - 12.8 19.2 35 54.5 83
D152 IR 22 2 FR MMM T2 89 102 127 148 185
D2F IR RMM 100 119 135 170 198 226
F135 2 IR 0R A3 AT AS MM M8x1.25 | M8x1.25 [ MIOx 1.5 | MI2x1.75 | MI2X 1.75| M16x2
F255 2 IR ORI 3, 2 8 8 8 12 12 12 12
P35 RIR M 3 D ERERWM 54 73 80 102 127 140
FAYRFIIROR S 3 HNAZMM M8x1.25 | M8x1.25 [ MIOx 1.5 | MI2x1.75 | M12x 1.75 | MI2x 1. 75
FoURBRImIRL S 20 8 8 8 12 12 12 12
FOIRBIMIRL S, DEBEREWM 86 103 117 151 175 203
FIZ% BRI EEWM 14.3 17 21.4 35. 7 45.7 66. 7
H1 o 0\ £ B AR ST 80 90 98 115 129 143
L1jm i (180° )MM 140 143 156 184 224 241
LI (360° ) MM - 189 212 258 311 346
LA SHere A=K E (180° )M 138 142 154 182 221 239
L2 AR SHeE A=K E (360° ) MM - 188 211 256 308 344
L37A= BEE EIR R (180° )MM 25.4 26. 9 Dl 27.9 38.6 43.9
L3E= B V@R (360 ° )MM ~ 22.6 24.6 42.7 60. 2 70. 4
P1 P2 FHAHO 1S0-1179-1/BSPP “G” Z3Bl, RTM1/8F1/4, 1# B4
V1 V2 @m0 [S0-11926/SAERT, R TN7/16, #NE%

HREBEMRITRR, SHUIRYTREMEN, ERSHBEIRTBEUBLNE.

07



CT2& B 5 R~ Dimensional Data

5. 9F0164R i

Wi

5, 9F0167E=1n

CT2% %

w3 | s 9 16 n | 2
LA AENM21MPA 500 900 1600 2680 4200
1300 2400 4400 7100 10500
BRZER AL BN 2500 4500 10200 16400 31600
REZESAEHEM 1360 2480 5420 11300 15800
REREKG 1380 2130 4190 5580 9530
BETEKC 500 680 1000 1400 1770
FRICHER (180° )CC 132 234 436 726 1070
BICEEKC 12.5 17 30 51 7
D124 A ES EMM 104 117 142 170 196

08



G

R%EeNIb

s 5 9 16 27 42
D2FS A B RMM 101 114 139 165 191
P13 TRIR A3 HARMM MIOX1.5 | MI0Ox1.5 | MI2x1.75 | M20x2.5 | M20x2.5
F2E= MRS 4 B 6 8 8 8 10
F3 5 R3S E B EEWM 53.9 65 85 102 121
FApPSHE3LAASMM M20 M24 M24 - -
F5 I 0B 3 HASMM M16 M20 M24 M24 M30
FE3H )\ 2225 3L AL ASMM - - - M24 x 3 1 1/4-7
FT4R B ImIR S 3 ALABMM - = - M12x 1.75 M16 x 2
FRIRBIMIRLS A B - - - 8 10
FOIR RIS D E R EEW & = = 108 121
HIARS V&R EM 119 135 158 193 218
H2EEEEE DI & MM 66 76. 2 85. 9 108 121
H3EE R MM 34.3 38. 1 44,5 63.5 70
HA GBS MM 146 163 185 220 245
L1 EM 188 216 248 298 337
L2R S et s = K MM 173 197 229 276 314
L3%E2 5 P EHR BE EEMM 32 34, 5 44,7 48. 8 49
LARRIZ 25 31,31, BEMM 111 140 152 184 216
L5k 522353, 2 MM 37.9 37.6 47 57.2 60. 5
W1 EERZ2 2 31,31, 2EMM 145 152 197 222 267
W2 ZE MM 178 191 248 279 330
P1 P2 =SB0 IS0-1179-1/BSPP «G” &3, RTMI/8FE1/4, FNEL
V1 V2 iRm0 1S0-11926/SAERBI, R<TR7/16, i¥NE%K

HREEFIRURER, SHORYTUREMEN, ERSHEIRTBUBENNE.

09



CT3Z%|&#5R < Dimensional Data

R 30 B
ns 19 28 47 73 105 140 180 240
I XBNM@21MPA 1900 2800 4700 7300 10500 14000 18000 24000
{REFHAENM@21MPA 4900 6800 12000 18000 26000 35000 46000 59000
SEZRELTHWM 5200 7100 11900 18400 29500 38800 55900 72900

BERZETFE(180° )N 13400 16900 | 30800 | 47800 | 75100 | 98900 | 130500 | 170000

BRI (360° )NM| 19200 24600 45400 71200 | 111500 | 146000 | 197700 | 256500

RERNEKC 1800 2300 3600 5000 6800 8200 10000 11800
A AERKG 1400 1800 2700 3600 4500 5900 6800 8200
EBCHER (180° )CC 492 688 1180 1870 2680 3540 4650 6000
JEICHESR (360° )CC 980 1390 2360 3740 5360 7080 9320 12000
IBICEE (180° )KG 34.5 50 72.5 110 160 220 280 360
IBLEE (360° )KG 45.5 63. 4 100 140 200 290 370 455
DISEZ 25 M EEWM 139 155 183 209 234 263 288 310
D2 A ET 1R MM 140 152 178 203 229 254 279 305

FUEZIRIGSSLAMEMM [MI12x 1.75| M16x2 [M20x2.5|M22x2.5 M24x3 | M27x3 | M27x3 [M30x3.5

10



(gt dutii]

ne 19 28 47 73 105 140 180 240
F23k = RIRMI3 M2 12 12 12 12 12 12 12 12
FOEZIMRSGLDER

115 125 150 170 195 215 240 255

BEM
FAOR EHRIRSLIMABMM | M10x 1.5 |MI2x 1.75] M16x2 |M20x2.5|M22x2.5] M24x3 | M27x3 | M27Tx3
FoOZ BIRIRSL M B 12 12 12 12 12 12 12 12
5 ﬁ?ﬁaﬁﬂﬁ@ﬂ%ﬁg 108 120 133 150 170 190 210 230
ERW
FIRE3 EEM M16 M20 M22 M24 M27 M30 M36 M36
HIRSRER=EWM 156 186 212 240 276 305 327 362
H2[EEEFEPIN&EM 80 94.9 108 122 140 154 165 184
H3E S 48 70 78 88 105 110 120 135
H4 = EMM 179 201 226 271 283 310 334 366
LIRE (180° )MM 298 323 365 413 475 524 551 600
L1 E (360° )MM 427 470 538 615 705 776 836 906
L%?ﬁﬁ%ﬁi&g 261 286 323 363 431 463 493 534
(180° )MM
L2 S E=KE
(360° )M 392 433 496 565 661 715 775 843
LS%OZ%SF@EEE% 75. 2 134 143 130 152 185 196 221
(180° ) MM
L3E=5VEREeE
(360° )M 149 157 197 232 267 308 338 374
L‘iﬁ’?]fﬁ%%ﬁﬁ 229 248 281 314 374 400 426 460
(180° )MM
LA[EER %2 48 31,3130
(360° )M 358 395 454 516 604 652 708 766
LSE=5%R %3008 : .
(180° )M 38.1 43.9 50 56. 9 59.9 74.2 75.9 80
W1EER 222 3], 26MM 190 230 260 300 340 380 410 450
W2 35 EEMM 222 268 310 350 400 447 484 530
P1 P2 FAHO IS0-1179-1/BSPP “G” &%, R~TM1/8F1/2, ¥ NE%E
Vi V2 @0 ISO-1179-1/BSPP «G” &%, R~73/8, 1¥NE4%

HREBESRIITBR, SHHRITREMEN, ERSHENRITBUBENE.

IN |



G

HEAII6
CT3Z%IZ2#5R~T Dimensional Data
L1
L2

__1,3__‘ SOvVe, OVIEE

D1
D2

=

CT3EZRHEFS

| BS | 1o | 28 47 13 | 105 140 | 180

1A 5BNMe2 IMPA 1900 2800 4700 7300 10500 14000 18000 24000
ERIEFHRENME21MPA 4900 6800 12000 | 18000 26000 35000 | 46000 59000
EERETHEWM 5200 7100 11900 18400 29500 38800 55900 72900

BRLHELFE(180° )NM[ 13400 16900 | 30800 | 47800 | 75100 | 98900 | 130500 | 170000

BRI (360° )NM| 19200 24600 | 45400 | 71200 | 111500 | 146000 | 197700 | 256500

&f'lﬁ_]'ﬁgﬁx(}- 1800 2300 3600 5000 6800 8200 10000 11800
@A EKG 1400 1800 2700 3600 4500 5900 6800 8200
FRiCHERR (180° ) CC 492 ess | 180 | 1870 | 2680 | 3500 | 4850 | 6000
IBiEHES (360° ) CC 980 1390 2360 3740 5360 7080 9320 12000

12



G

[ptdtllii]
#S 19 28 47 73 105 140 180 240
IBILEE (180° )KG 34.5 50 72 110 160 220 280 360
EBICEE (360° )KG 45.5 63.4 100 140 200 290 370 455
DIBAEZERWM 200 235 280 315 355 396 442 475
D2@AKIECIE =M 150 175 205 230 260 290 315 340
D3sE LU A ERMM 139 155 183 209 234 263 288 310
DAFEAE R 140 152 178 203 229 254 279 305
FIPOEZZIRSIZLANMAEMM | M12x 1.75] MI6x2 |M20x2.5|M22x2.5| M24x3 | M27x3 | M27x3 |M30x3.5
F2RsE IR 22 12 12 12 12 12 12 12 12
Fg,@%ﬂgﬂiﬁg 115 125 150 170 195 215 240 255
E{IMM
FASNEZ IR 3L AMAEMM | M10x 1.5 [M12x 1. 75| M16x2 |M20x2.5|M22x2.5] M24x3 | M27x3 | M27x3
FRANE IR M3 KB 12 12 12 12 12 12 12 12
Fe’?%%&%ﬁg 175 206 245 275 310 345 380 410
| 52U
\ —3

Eﬁ’b‘ﬂﬁ{*m%ﬁg 99. 1 106 118 131 144 156 169 182
L1gKE (180° )MM 298 323 365 413 475 524 551 600
L1 E (360° )MM 4217 470 538 615 705 776 836 906
LZ;F?EEEEZ&E 261 286 323 363 431 463 493 534
(180° )MM

L2A S E=KE

(360° )MM 392 433 496 565 661 715 775 843
L3Wyf*t:%$®mﬂﬁg 75.2 134 143 130 152 185 196 221
(180° )MM

L3RNE=S Y ERIEE

(360° )M 149 157 197 232 267 308 338 374
LAINE= EEM 25. 2 26 31 33 40 42 46 52
;;ﬁ?ﬁ&::559$iﬁ::ﬁﬁﬁg 27 32 35 42 40 53 54 56
Pl P2 FHSHO ISO-1179-1/BSPP “G” A%, #MARM1/8F1/2, ¥ E4%

V1 V2 iRm0 1S0-1179-1/BSPP “G” &A%, #MIEI3/8, ENEUE

HREETRURR, SENRIYTEEMEN, ERSENRTBEUBLENE.

13



CTARFNSH SR~ Dimensional Data

CT4ZE7%|
as 28 50 67
A FENME2 IMPA 2800 5000 6700
{R ISR IENME2 1MPA 6100 10600 14300

CTo&3S# 5 R~ Dimensional Data

CT5%7%

e 9 19 \ 28 | a1 | 70 | 105 | 10 | 180
HiH A SBNM@2 1MPA 900 1900 2800 4700 7000 10500 14000 18000
Rﬁ;ﬂ'ﬁm@zmn 2400 3800 5600 | 9400 | 14000 21240 29000 37000
iEfR AU MAIKG 1800 2200 4500 7000 9000 13000 | 20000 | 27000

14



G

[pbodicltii]

CTARFISEE R~ Dimensional Data

s 28 50 67
R RE° 220 220 200
BRZER KT 4200 7600 10100
BEREKG 2040 3130 3900
N FAEKG 2040 3130 3900
ECHECC 775 1360 1650
HICEEK6 33.6 58 75
DIEEEREW 140 165 178
FIBIRE BRI AHIRY, FBAES N EBE
F2HIIREEILAAE (FRUH) MM M12x 1. 75 M12x 1. 75 M12x 1, 75
F3EC B Z2 2 3L IRAS HUAMM M16x 2 M20 X 2. 5 M22x 2.5
HIR S LGRS EM 150 176 203
H2EEE R /N &M 73.2 83.9 102
LIRKE, RSVGALEREM 417 546 579
L2AR S e E B EM 335 422 445
L3JECRRIZ2 25 3, 2EMM 265 320 320
LAMIIRTE S22 4 31, 55BN 75. 1 113 130
L5$1eEaMM 40.9 61.9 67.6
L67% B MM 21.6 40 49
L7 O] SR 28 KM 32.5 52. 6 60. 5
W1 R 222531, BT 104 140 150
W2 BEEEMM 133 170 203
P1 P2 F&HO IS0-1179-1/BSPP “G” &%, R~TM1/8F1/4, XN EE
V1 V2 @m0 1S0-11926/SAEZRDI, R~FR7/16, i¥NE%

HREEMZURR, SYHNRIIEEMEN, ERSENRTBEURENE,

15



hRelb

CToRFNEBH 5 R~ Dimensional Data

ms| 40 | 50 | 63 | 80 | 100 | 125 | 140 | 160 | 180 | 200 | 225 | 250 | 280 | 300

AK6 | 22 28 35 42 95 70 80 100 105 140 140 150 170 180

Bo | 98 110 | 128 | 150 | 178 | 222 | 250 | 278 | 298 [ 325 | 385 [ 450 [ 490 [ 555

Cf7 | 55 68 80 100 115 | 150 160 | 190 | 210 | 235 | 260 [ 300 | 340 | 380

D 43 49 a7 66 80 94 105 | 127 | 138 | 150 | 224 | 240 | 266 | 285

E@ | 65 72 87 108 130 167 187 206 226 255 300 346 394 440

Fo | 75 82 95 118 | 147 | 183 | 210 | 240 | 270 | 295 | 350 | 385 | 435 | 470

H 45 56 70 100 | 100 [ 125 | 140 [ 200 | 200 | 200 | 250 | 280 | 280 [ 280

J| 14| 17 | 205 24 |31.5|39.5| 45 | 56 |58.3| 67 | 78 | 83 | 94 | 100

K 84 90 108 | 130 | 155 | 195 | 220 | 245 | 265 | 290 | 345 | 400 | 450 | 500

L 50 60 80 110 | 110 | 140 | 150 [ 210 | 210 | 210 | 260 [ 300 | 300 | 300

16



[pbodicltii]

S| 40 50 63 80 100 | 125 | 140 | 160 | 180 | 200 | 225 | 250 | 280 | 300

0 16 18 25 30 31 37 40 43 47 54 64 90 100 110

p 99+0. 2| 102+0. | 104+0. | 134+0. [ 171+0. [ 151+1. | 205+1. | 254+1. | 392+0. | 293+1. | 408+1. | 545+1. | H80+2. | 620+2.
T78a | 3444a | 5333a | 5889a | 7778a | 3389a | 0889a | 2167a | 9611a | 6222a | 8000a | 8333a | 3333a | 4444a

Q 39 39 48 a7 65 74 78 94 127 125 155 224 261 271

S | G1/8 | G1/8 | G1/4 | G3/8 | G1/2 | G1/2 | G1/2 | G3/4 | Gl G1 Gl Gl G1 Gl

T | 60° | 60° | 60° | 45° | 45° | 40° | 40° | 40° | 40° | 30° |22.5° [22.5° | 18° | 18°

Ue 9 9 11 11 14 18 18 22 22 22 22 26 26 32

Bl 26 30 35 40 50 62 62 82 100 100 120 120 130 140

H1 45 55 65 90 105 120 120 150 150 175 175 175 | 200 [ 200

JL | 7.8 | 10.1 | 14.1 | 18.3 | 24.3 | 31.8 | 34.4 | 42.4 | 42.4 | 52.9 | 56.4 | 61.4 | 67.4 | 78.4

Cle 12 16 24 30 42 55 60 75 75 95 100 110 120 140

I1 4 5 8 8 12 16 18 20 20 25 28 28 32 36

Wf7 | 16 18 18 25 25 25 25 40 32 40 40 40 40 40

W1 10 10 10 16 16 16 16 25 25 25 25 25 25 25

P1 11740, | 118+0. | 124+0. | 159+0. | 175+0. | 177+1. | 236+1. | 285+1. | 389+0. | 333+1. | 483+1. | 660+1. | 656+2. | 620+2.
2778a | 3444a | 5333a | 5889a | 7778a | 3389a | 0889a | 2167a | 9611a | 6222a | 8000a | 8333a | 3333a | 4444a

*aUIRTAE, BBEPER (07720, EANZFa+2° ) , ZERTSEIMISREER

CTOZRF ISR I R A HHAN 244

e 40 | 50 | 63 | 80 | 100 | 125 | 140 | 160 | 180 | 200 | 225 | 250 | 280 | 300
E‘.ﬁj]&jjh{m L0 1.5 . & 1.4 1.3 1.3 1 1.2 1.2 L. 1. 1 JoL I 1 1 1
EHHe

NM@21MPA 160 | 290 | 540 [ 1170 ) 2340 | 4900 | 6870 | 10590 15680 21400 [ 30980 [ 42870 | 59580 | 74630

SEFEBECC|0.19]0.31]0.64]1.03[2.61|5.52(8.01(11.81|17.86(23.86]35.31|49.89]69. 12| 86. 58

17



F :ﬁ. 'I'Eﬁg [pdclE ]

Product performance

IEEEX

Powerful

HEKX , AEIE
High torque,high
bearing capacity

it A
Durable

EaIEH A, LA
ERTESIMNG

moving parts enclosed.
suitable foe harsh environments

S&7iEl/Counter balance valve

18



FHEERBRSIES PROBLEMS AND SOLUTIONS

|a)ER [REFIARIRTSZE

== ImhEA e — AR RS, 1-6

RS el ] VR 7
A= IRhE AT, 8,9
EaMUERIEME, Bk T
IEES RS
(e Eﬁﬁﬁggfgggi?WE%ﬁEhEKﬁﬁaﬁbw%
2.mE(E KREHNEEHEE  SREDINBE LR

e i FEIE R OIS | BRI , AP EOE
3 AR (BRI CRESRTRAES) , RN FEHO R R
H, NFEEARE R,

NSRS T — N PEiE |, % S EERam SR

4 TEEN (MBI S SRR BN T S a T T B E A e
6. BB IR B — RS, NE— N HOESLLE
ISR, NSRRI , BHEE , MEes,

SENFEEBERMRE SRR, ERRPIBREHES , MRBEERE M.
CREHATEERFEHAAMRTR SAKHI. SRRRE RIS R (3
HZBR(OHAREHEITS) P LT =) R .

7B RES HEREZRDHEI =S,

8 EISHIRIERICRSIHNRRR TR S | SIRHEL

9. A ERELIEIS EEANTIE MEHOEREELKE , AT EERMRSILRE

19



Deliverry Test Item
IR

TG HR FETIANES ISR

NI EERG,. NELZKRT Tt
EENTEERER

PSRESI2IMpaBEIE{T10045D

DRRERIZTRIRIRRL, @PLH
Op02IMpaEA(P2FTFH), FF&e59 PI/P23013
., EP2HON021MpaEAPIFTF TR
BON02IMpa £, FFEESDEP

V150 Ey 2 g TCEHTH,
(R Z=E FI03IMpaED, BT AESD4D ?EEEE S

D0E2Mpa, NIERFEDFE, ET8T /
INGS, #920002R

HNERECEE HEEREK

20



KR/ APPLICATION

21



@J RiEEIIE R TR BIRD TS

Weihai Trato Hydraulic Technology Co., Ltd 20s '

1] |JJZT-"“HZEFEH\EEEﬁ%%ﬁﬁﬂlﬁﬁﬁﬁﬁﬁﬁ%'
ZEiAes - 18906313968

HAIESE - 18006308266 p._i-
Qe L - 15336300777 5 g
13563102232 e

FBFHfFE : chuangtuachina@163%cam

# ., y -7 =



	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24

